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candidates should read carefully the instructions in the Question Booklet and OMR
Answer Sheet before start answering.
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%Wmﬂaﬁﬂﬂﬁ%’ﬁmmﬁﬂﬁml You have been

called for the written test based on the data furnished by you in the on-line application.
If you have wrongly entered information in the application or you do not possess the
required qualification as per our advertisement, your candidature will be rejected.

3T ofer gfer 3 Frdiere & ufeufd 7 (W 9 ) gder T U gEAGY il
You should sign the Call Letter (pasted with photograph) only in the presence of the
invigilator in the Examination Hall.
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FTHIT e 3Te=Y HS 7 ¢

The question paper is in the form of Question Booklet with 100 guestions. A separate
OMR sheet is provided for answering the Questions.
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Use only Ball Point Pen (Black or Blue) for writing/ shading on OMR sheet and marking
your answers.

%%%Wﬁﬁmﬁmmaﬁar&h@amwmﬁ
Sifer 18T sl SATee|
Question Booklet series code (A/B/C/D/E) printed on the right hand top corner is

mandatory to be written on the OMR sheet in the box and bubble appropriately, failing
which the answer sheet will not be evaluated. B

10f19



7. 3NTENR e & 39ar 1 3R Ao A9T & T |

Enter your Name and Roll Number correctly in the OMR answer sheet.

8. faf@a e ug & faw MuiRa degar & JUR w9 3call & a1 argfase
U T gl et @ Fao ua Ioa WG w9 @ @er g
The written test will be of objective type based on the qualification prescribed for the
post with four answers indicated, of which only one will unambiguously correct.

9. T 3eeR TF #F RBU 7v AT & IER MANR el I3 & T ISR
el Sl IR §T HET Sealy 1 T |

You have to select the right answer by marking the corresponding oval on the OMR
answer sheet as per the instructions given in the OMR answer sheet.
10. 9eAF TE Ical T U 3F §; A el G 0.25 3 FH FHAT S AR 3R A

&7 W YA 3k L@
Correct answer carry one (1) mark each; Zero (0) for no answer and minus zero point
twenty five (-0.25) for a wrong answer.

11, fFeY Y uest & T &% Reedl & 9 WX 3cal ITeld AT STUEI|

Multiple answers for a question will be regarded as a wrong answer.

12, 3NTANR ofe & cargder g1 faRed AR de yerer #¢ i e
Marking in OMR may be done with utmost care. No spare OMR sheet will be provided.

13.%Wﬁm$mw,w,mmmmﬁaﬁ%
3UGTOT, TG GEA, Aleq e, dlel &1 A TEr &7 Sruaf|
Computers, Calculators, mobile phones, reference books, logarithm table, electronic
gadgets etc. will not be allowed inside the Examination Hall.

14, YT BleT U YAUT 3 UGS TS &1 YA W6 F & fav R o dehar g
F5 AR e a8 & st

Space available in the Question Booklet can be used for rough work, if required. No
separate sheet will be provided.

15. e @ Bl W, (1)mmﬂ§m%@ﬁqﬂmaﬁrww (2) MTANT Il
qa &t MY W feoe Red & e & F AR A NHIR Sl aah fAdes
@i & 3R geeliehe g 319e Wi o S Hehd
On completion of the test, (1) Hand Over Written Test Call Letters with photograph
pasted on it (2) tear the OMR answer sheet along the perforation mark at the top and
hand over the original GIVIR answer sheet to the invigilator and retain the duplicate
copy with you

16. 3FslEaRt & 98T F gger e & el TUET gier oiger I HefAfT 6 ¢ |
Candidates are not permitted to leave the Examination Hall during the first one hour of
the examination. _‘
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The n,netgy ‘meter used in domestic power
consumption indicates.

a. VISin@

b. VICot©

¢. VICosO

d. VI

From the point of view of safety, the

resistance of Earthing electrode should be

a. Low

b. High

c. Medium

d.  The value of resistance of Earth
clectrode does not affect the safety

Which of following can be used to store
electrical charge?

a. Transistor

b.  Capacitor

¢.  Inductor

d.  Resistor

Capacitor & Coil in parallel is called,

a.  Tuned circuit

b.  Timing circuit

¢.  Delay circuit

d. Latch circuit

[f a 10K resistor is placed acrossa 10 V
supply, the current will be

a.  10mA

b, 1.0mA
c. 0.ImA
d.  0.001Ma

During transfer of electric power {rom
primary to secondary in transformer. which
of the following factor causes losses?

a.  Resistance of wire

b.  Core material

¢.  Eddycurrent

~d. Al ofabove
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a. dld

b, eyl

c. BRI AR
d. ufeRyed

1|.§1ﬂtﬂﬁ?ﬁmuﬁq$ IR fedae arfgn o 200
gHEeIg ¢ afe 3ue! urdfie arfgnH 230 V AC
@1y fea Wi g dl sEel fidlae R oo

w87
a. 230/200 V AC
b. 230 VAC
c. 230 VAC

d. 230 * 200 VAC

12, TR 3ffeY CBIR &l Fgl @ B

a. Slgdh

b. dlgdh

c. Sfif&al Q'R?WIT?
d. afam®s

i

Closeness with which an instrument reading
approaches the True value of the quantity
being measured

a.  Accuracy

b, Resolution

¢.  Repeatability
d.  Conformity

Ammeter shall be used in a circuit
a. Parallel

b. Series

C. Shunt

d. All of the above

Not taking care of zero adjustment of an
instrument before measurement can be
classified as.

a.  Systematic error

b Gross error

¢.  Random error

d.  Dynamic error

10. Power factor of circuit can be improved by

use of

a. Choke

b.  Capacitor
c.  DC motor
d.  Resistor

.Primary and sccondary winding of
transformer has 200 turns . 1f 230 V AC 1s
applied to its primary winding. what is
voltage across its secondary?

a. 2307200V AC
b. 230 VDC
c. 230VAC
d. 230200 V AC

12. Variable auto transformer is also known as .

a. Diac

b. Triac

C. Audio transformer
d. Variac
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a. dleosl
b. fdggdurT
c. Gﬂﬁﬁﬁ
d. ufeRiy
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13. Ohms law of magnetic circuit is,
a. MMF = Flux X Reluctance

o MMFE = Flux / Reluctance
gk MMF = Reluctance / Flux
d. None of above

14. Unit of Magnetic flux is
a. Coulomb
b. Weber
c. Weber / meter’
d. Ampere = Turn

15. To composition of solder material used for
electronic fabrication:
a. Sn63/ Pb37
b.  Sn60/Pb40
c. Sn62/Pb36/Ag2
d.  Allof above

16. Transformer works only with,
AC
D¢
ACand DC
d. None of above
17. Ideal transformer has,
a. Primary & secondary turns are equal
b. Nolosses & leakage reactance
c. Has output voltage zero
d. None of above
18. Moving coil instrument works on principle
of,
a. Chemical
b. Electro-magnetic
¢. Heating
d. Electro static

a
b.
c

19. Multi-meter cannot be used to measure,
a. Voltage
b. Current
c. lrequency
d. Resistance
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20. CRO is used to measure,
a. Voltage
b. Frequency
c. Phase
d. All of above

21. Type of deflecting system used in CRT is.
Electro static

b. Electro Magnetic

Electrochemical

d.  Hyvdraulc

~

o

(Re]
S

_The sensitivity of CRO is determined by
a. Horizontal Amplifier

b. Vertical Amplifier

c. Sweep oscillator

d. Non of above

23. The time period of a Sinusoidal waveform is
2ms then frequency of waveform will be,
a. 500 Hz

b. 50 Hz
c. 5KHz
d. 3 Hz

24. A function generator is used to generate.
a. Sine wave
b. Square wave
¢. Sawtooth
d. Allof"above

25.Flux is used to
a. Clean the dirt on soldering surface
b. Foreasy flow of solder in to joint
¢. Remove oxide from the surface to be
soldered
d. All ol above

26. Melting point of solder 63Sn-37Pb is
a. 183°C

b. 230°C
c. 150°C

d. 273°C
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27.LVDT isa

a. Pressure transducer

b. Displacement transducer
Velocity transducer
Acceleration transducer

e

o

When temperature of pure semiconductor
is increased, its resistance,
a. Increases
Reduces
Will remain same
None of above

aeo

29, PN junction becomes reverse biased when
battery,
4 +ve terminal connected to P and -ve
terminal to N
b, +ve terminal connected to N and —ve
terminal to P
¢.  +ve terminal connected to P and -ve
terminal to P
d. None of above
30. A semiconductor has following
temperature coefficient of resistance
a. Positive
b, Zero
¢. Negative
d. None of above

31, Resistivity of pure Germanium under
standard condition is,

a. 6X10* Qem
b. 6080 cm

ol 3X103Qcm
d. 6X10°Qem

32, Addition of trivalent impurity to
semiconductor create many,

a. Iree electron

b. Holes

¢. Valance electron

d. Boundelectron




35. 3 T YR e @ Sifiean emar 2
a. 40.65%

b. 81.2%
. 25%
d. 90%

36. LM79XX dlecsl V[erex UeH &l ¢
a. + VCHBEQE aéa

b. —ve 33ICYC dleed
c. GHl -ve AR + vedieeol
d T A 1 ot

37. NG MATS HT A fHar rar &
a. dieew (dfg dufa s ®9 #
b, dleew OfbT ufdt & wu o
c. diees ORT SS9 & wu A
d. 379 ¥ g ff 7

3. A Zener diode i1s used as.
a. Anamplifier

b. A voltage regulator

c. A rectifier

d. A mult vibrator

o

34, Which is the symbol of TRIAC?

&

a.

!rq

b.

v
"IF,_,

#

35.  The maximum efficiency of a half-wave
rectifier is,

a. 40. 0%
b. 8l.2%
G- 25%
d. 90%

36. LM79XX voltage regulator provides.
a. +veoulput voltage
b. —ve outpul voltage
¢. Both—ve as well as +ve voltage
d. None of above

37. Varactor diode are used as,
a. Voltage controlled capacitor
b. Voltage controlled resistor
. Voltage controlled inductor
d. None ol above
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38 which of following is not an output devices

of computer?
a. Printer

b. Keyboard
¢.  Monitor
d. Speaker

WWW stands for,
a. World Wide Web
b. Work Within Web
¢c. World Wide Wan
d. World Work Wide
Instrument for measuring humidity is,
a. Anemometer
b. Hygrometer

¢.  Manometer
d. Borometer

How many bit are in an 1P address?

A 16

b. 8

Gx 32

d. 064

_Bluetooth technology allows,

a. Landline phone to mobile phone
communication

b. Wireless communication between
devices

c¢.  Signal transmission on mobile phone
d.  Satellite television communication

Which are the following is not an
example of Operating System?

a.  Microsoft office
b.  Window vista

c. Unx

d.  Ubuntu Linux
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b. CRS WIEd
c. THY BRA
d. difsa wigd
45, BISd UaEeRE & SuanT faar mar g
a. PIsd & AH & o
b, WIsd M 7@ 78 YRR B b fow
c. PI3d P UgHH A & faw
d. BEd SR HI UgdH & [
16, UA® TR HIEd Sl dhgd dgl aldl o i,
a. SN o AR o1 WG B Thd ©
b, T8 TN fHar o Ul
g wEwES! R I dic ufed a3
AR i Y THd §

d. 90 3/ T & U FS AgTd Bl €

a maﬁ?m
b W\}hq@:f

48. HUER Aedd @I HrRAld & g2
a. Ug Aedd & U Hifaw WA &

b, B "¢ddh Bl Ud ST ffEen
c. UH YUME ARG Ium &1 A4 &

fero qrar
d. U dd 3R WieduR

49. THAR F fow @1
a. WIEd TIHY Greidic
b, I iy dieidsd
c. BIH W UEdlid
d. B IR0 dieidbid
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44,

“.mpg” extension refers to.

a. Word file
b, Text hile

c. Image file
d.  Video filc

. File extension are used in order to,
a. Name of file
b. Ensure the file name is not lost
c. Identify the file
d. Identify the file type

lrach Excel file is called a workbook
because.
a. It can contain text and data
b. It can be modified
c. [t can contain many sheets including
worksheets and chart sheet
d. Youhave to work hard to create it

46.

47. How data are organised in spreadsheet?

a. Lines and spaces
b. lLayersand planes
¢. Rows and column
d. Height and width
48. What is firewall in computer network?

a. Itisa physical boundary of Network
b. Anoperating systems of Computer
network

¢. A system designed to prevent
unauthorised access

d. A web browsing software

TP stands lor,
a. Iile Transler Protocol
b. File Transmission Protocol
¢.  Form Transter Protocol
d. Form Transmission Protocol

49,




h. lu L()llll()l Ie ‘
¢. Veg =10
d. Vce has +ve value
|
51, pNp TifTRR B T T SR ©
ERl

a.

b, Paac

c: Eftl'd_{
d. e

o TRiEER B @ W SRR Bl SHfIEIH ce |
2.
a. 25%
b. 50%
¢. 78.5%
d. 75%

3 TF <R widier B 33T viE 8. |
a. 3d
b, Sgd Sl |
c. WY R[H
d. ®H

54, 1§ THOATHIR | ~ vcmwmmml
3 e gue! uRum gl 87

a. ®H faweuor |

b, 3ifde faopfd ‘

. fawqum W Blg gHE Tel ~

0. offtr i |

55 e ARy F BRU A S B8, !
. gerEe gfafear '
b, AdRrEs ufdfear
o ofifyp wU A GbRIED R ARG
w0 § APRHAD \

d%’ﬁ@ﬁmﬁ I
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50, When BIT is in saturation,

50, 9 Bll ﬂ?{ﬁl X '_#__"'4‘\4
=0

-

a. Ie =0
b. Ig control Ic
¢e. Vee = 0

d. Vce has +ve value

51. In PNP transistor, N is termed as,

a. Base

b. Collector
¢. Emitter
d. Gate

wn
(O]

“The Maximum Efficiency of class—B
operation of amplifier is,

a. 25%

b. 50%

c. 78.5%

d. 75%

53. The Output Impedance of an LEmitter
follower is,
a. High
b. Very High
¢. Almost Zero
d. Low

54 When —Ve Feedback is used in Amplifier.
what it results?
a. Reduced Distortion
b. Increased Distortion
¢. No Effect on Distortion
d. Increased Gain

An Oscillator produce oscillation due to,
a. Positive Ieedback
b. Negative Feedback
¢. Partly Positive & Partly Negative \

(]
wn

d. None of the above



56. R d RU & HHd § T Re qlfes &) omgf
Fag § ot @
a. 2 / mWRC
b. 2a2VRC
¢. 1/ 2nRC
d. 1/ 2aRVC

37. Ukcdd Hvdr]dISSIC{ %’

a & R fufazi
b. s fRr fRfd
c. @I R fRufq e

d. ®Ig 3 Iuged fRufa

ss. ol ¥ el ¥ fow wed omsT gdecie

RG-S
a. BJT
b. FET
c. MOSFET

d. 38

59 FETU® QY& g
a. WW
b, fagdl

C.

oty
d. 38 q $ig ol T8

60. SCR, 4 § g1 91l deger Iudur §
a. AR UH-UHPR TRd
b, & Y-UHR 3R & TH-UHR W
¢. @ M-uPR AR I wH-ubR ud
d. dF d-UPR 3R Ueh TH-USR W

o fa 7 @ T SR Aiex &1 nfd Fgau §

faar Srar 22
a TBE
b. UGRSR
é. ‘g’rf%“ﬂE?

d. qﬁré?

56. The Frequency of oscillation in case of RC
phase shift oscillator is given by
a. 2/m/RC
b. 2nvRC
¢. 1/ 2nRC
d. 1/2aRVC

57. An Astable multivibrator has.
a. Two stable states
b.  One stable state
¢. No stable state
d.  Any other above condition

58. The best electronic devices tor Fast
switching 1s:

a. BIT

b, FET

c. MOSFET
d. Diode

59. FETisa  devices.
a. Unipolar

b. Bipolar

c. Nonpolar

d.  None of Above

60. An SCR is Semi-Conductor devices made

up of,
a. Four N-type layers
b. Two P-tvpe & Two N-type layers

o

. Two P-type & Three N-type layers
d. Three P-type & One N-type layers

61. Which of the following finds applications in
speed control of DC Motor?

a. FET
b. SCR
¢. Transistor
d. UIT
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62, TR o PO Sdie, oF UAlg ®ic. .. ¥ ‘ 62. The SCR turned-off when the anode current |

fa iR S 8. [alls below,
A IRGS Hic e a. Forward current rating
b, dieest ¥ 3 oD b. Break over voltage
c. BT Be ¢. Holding Current
4 dRm e d. Latching current

63. What is the full form of LASER?
a. Light Amplification by Stimulated

2 fafteor & I ? oRad T e Emission of Radiation

b, vl Wi RfEreT e yaD b. Light Activated Silicon Emission
o wree vdlfa Jfideae IaoH fafdvor | Rectifier

d. 30 Y B Tl c. Light Amplified Semiconductor

Emission Radiation
d. None of these

64, TR Fiw Ty ung ¥ Sl 8
a fe1 SR e 64. Solder is made of alloy
b foq SR Fod a. Tin & Zinc
o foq erdmm b. Tin & Nickel
4 A0 A B8 i Td c. Tin& Lead
d. None of above
65. BGA P! T AH T &2 | 65.Full name of BGA?
A a1 g W ) . ¥ "
. a. Ball Grid Array
b. af‘r s W b. Bat Grid Array
c. @ fis ueH _ ¢. Ball Grid Atom
d. ¥ ¥ Bl Tl d. None of these
66. @ 3¢ XOR T dd g1 U J=d 3M3cYc 3 66. Two input XOR gate produces a High
FA g old THD 3M3TYC g e output only when its inputs are
a 3o a) High
b, ; b) Low
.. fafm ¢) Different
4 guE ‘ d) Same
67, Ao e AAmE AR o arad fow W I . .
3 “ 67. I\mLs)e I\illar;;m in logic gate is expressed in,
‘ a. Decibe
k; j;j]aa b. Waltt
: - c. Volt
I ' d. Phone
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68. fefrea womel smdk W gaferd &1 Sl 8. o alle oner
68. Digital system usually operates on,
a. fgamurd e
a. DBinary
b b. Decimal
c. S®Y [ c. Octal
d. ORI T d. Hexa Decimal
69. CMOS JTHUT B, . ... .. H1 GO gidl o 69.  CMOS devices have advantage of
a. BT HHR , a. Small Size
b, ®Y fauiel @ @ud | b. Low Power Consumption
¢ & IR ! c. Less Noise
4 TR F o d. Allof the above

70. P e gfada e ¢

70. Following gate is Universal Gate.

d. :i_c(r
b Al a. NAND
e 3R b. NOT
4 Ug c. OR
d. AND
7.0 + & = AR ... & foro gfes vaE @
a. 08 e . o
b HE e 71, A+ B-’-fz’ is the Boolean Function for,
2 a. AND Gate
Z :;%ﬁﬁ; b. NAND Gate
' c. NOR Gate
d. OR Gate
7. Adud alfvie el & darfad & & fou
HIWF e g, 72, The voltage needed to operate TTL logic
a. 5 dl Sl G,
b, 10 d @4 a. S5VDC
c 2 dt SRh b. 10VDC
4 20 d X7 c. 2VDC
d. 20 vDC
73, f & @ o1 A dicedl B IR Sel H aod
g? ' 73. Which of the following changes Analog
a. U / 8 daR 1 voltage to Binary data?
b, B ; TH HAde a. A/D Converter

c. TAPISR | b. D/A Converter
d. 390 ¥ ®18 ft Tl ¢. Encoder

d. None of the above




74 U ol e B w0 e,

A 3R ¥ WY A T

b, XORTE & WY UsTC

c. ¥ad U8 T

4 Ad R T8 a -3k R A A
g e

75, UF 4 e Adied HBd €
a. 4-3132Yc.16 $14YC
b, 4-39YC. 16 33TYE
c. 2-399¢. 16 313CYE
d. 4-3YC. 8 3M3cYC

a.a=l,a?=0
b, @ =1,®% =1

o
d. A=0,F =1

b.. fauad afvuy
¢, dNId ufyoy
d. T uRuy

_m%
g

i3
¥ forg e
J @5 W ol

133

d. ?Fﬁf
79, AW 1M723 ©

a UHd OP-AMP
b, BIA OP-AMP
feud OP-AMP
5 OP-AMP

i g
| d.

74. A HALF Adder includes.
a. NAND Gate with OR Gate
b. AND Gate with XOR Gate
c¢. Only AND Gate
d. Neither OR nor X-OR nor AND gate

75. A 4 line decoder has
a. 4-Outputs, 16 Inputs
. 4-Inputs. 16 Outputs
¢. 2-Inputs, 16 Outputs
d. 4-Inputs, 8 Outputs

| 76. J-K Flip-Flop is in the toggle condition
when,

a. |

J ]
b, 1= 1
c. 1= 0,
d. I=20

77. D Flip-Flop used as
a. Delay Logic
Divider Circuit
Adder Circuit
Multiplier Circuit

78. A Flip-Flop has two output which are
a. Always zero

\ b. Alwaysone

‘ ¢. Always complimentary

d. None of above

| 79.1C-LM723 is
a. Single OP-AMP
b. Dual OP-AMP
c. Triple OP-AMP
d. Quad OP-AMP
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80. 3l OP-AMP H Fufeiad fagwam ad 8

a. Ri= co, A= co, Ro= 0

b. Ri= 0, A= oo, Ry= 0

¢. Ri= oo,A= oo,Rp= 0

d. Ri= 0,A= oo, Ry= o

A yorelt WP A ¥ P @ emifed Widw
A& 62

a. ﬁaanﬁ?ﬁﬂaﬁqqﬁﬂaﬁﬂ
ASIGH 3R SRR

¥gd, Wias Ffe 3R gd am

agra, Wias Ffe, 7d &7 3R sRRawar

. Profafaa 3 @ @i a1 uflgd muA 93 78 8

b, IR B

c. SMd Hbdd

d. HUA &1 <yl
RS W U Tlddr IR AT JUHRU SUrl
H gl H B8R @
a 0.1 foe

b. 1 ﬁnﬂ

c. 0.o1 fomdt

d. 30 ¥ @18 off 8t
ST &

a. Udh Ydlddh

E
!

5. U deR WRANY] A, WelT BT A gl 8,

a. -1.6x1071% &
b. 1.6x10° ™ i
c. -1.6X1071° U
d. 1.6X107° U

- 80.

81.

8.

84.

85.

The Ideal OP-AMP has the following
characteristics

a. Ri= oo, A= o0 Ry= 0

b. Ri= 0,A= o, Ro= 0

c. Ri= o0, A= 0. Ry=

d. Ri= 0,A= o, Ry= o0

In measurcment system. which of the
following are undesirable static
characteristics?

Sensitivity and accuracy

Reproducibility and non-linearity

Drift, static error and dead zone

Drift, static error. dead zone and non-
linearity.

JFollowing are not  Precision  measuring

istrument

a. Micrometre

b. Vernier Calliper
c. Dial Indicator
d. Measuring tape .

Precision Dimension Measuring Instruments
measures at an accuracy better than.

a. 0.1mm

b. 1 mm

c. 0.0 mm

d. Nonc of above

Diamond is an.

a. Conductor

b, Insulator

¢. Semiconductor
d. Super Conductor

—_—

In a neutral atom. the charge of Proton is.

a. -1.6X10"7C
b, 1.6X10°"C
c. =1.6 X101 A

d. 1.6X10°"A
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87.

88.

a. Qﬁﬁgﬁﬁl
gl

b.
. faned
d. U
el & Fod ¥ FuR. & Sk Q1 R Q2
e ¥ Sl gl S e Y gualpa degadfid
T ) forar el 8,
0102
a. -
4Ted?
, 22
4Ted
Q12
e AT d?
d. Iufad B Y BIE el
I pico &RAATE
a. 10w12
h. 1077
¢. 107°
4. x0™2

89, Ul p, W~&ﬁm&aqammqa\_

e rgge o fIRIE HICT Sl 8

{

a, AR o

pA

A

b, R = QT
. [

¢, IR Q_l
4. ANV pls g

87.

|

86.

88.

89.

Closeness of instrument readings with cach |
other is known as.

a. Precision

b. Accuracy

¢. Resolution

d. Conformity

According to  Coulomb’s law, the
electrostatic force between two charges Ql &
02 coulomb, separated by distance d meter 1s
given as,

Q1Q2
a
4Ted?
01Q2
i 4Ted
Q1Qz2
C —
4Td*

d. None of above

The prefix “Pico™ represents

a. 107"

b, 1 0—‘)

c. 107

d. 1 0—3

Resistance of conductor having Resistivity

0. Cross-sectional area A and Length [ is
measured by

[

4. R = —
oA
b R = o=
l

l
¢c. R = @Z

d. None of above



90.

91.

94.

e fedll BT AT FRE Q8
a 0

b, @

¢ 1.1

d. 1
. Pat B e ufaurd R dRar
a.  Paal W ugdd dieed W

b. Pecll & ylaRdy W

c. G-H'Qﬁ Gl 0

d. T § @5 ot el

9| G $8de Ud 1 3R Ud 2 YHHEI & 3Pl

10Q+5% u¥ & T DIg A 82
a. SIS, BIal, DI, QT
b. 5%$]§KFL§%$}ﬁF@T
c. S, Pal. b, Hea?
d. T 9 35 0 T8

T TSHY ©.

L1L2
L1+L
L1+L2

L1L2

e L1 +L 2
d Li1 XL 2

e & st b1 AediHier guf gedar g

a, 1999

b. 9999
¢. 1990

d. 3999 ‘

5. UGUH SAI¥Y R 82
a & ﬁﬁﬂﬁmq
b, 3G gy
c. Wlgd HigyHYA
d. Fga Ay

90. What is color code of 10 @ + 5% resistor?
a. Brown. Black. Black. Gold
b. Black. Brown. Black. Silver

Brown. Black. Black. Silver

c.
d. None of above

91. Quality factor Q" of ideal Coil is
a. 0
b,
c. 1.1
d 1

92. Inductive reactance of coil depends on,
a. Voltage applied to coil
b. Resistance of coil
c. Frequency of supply
d. None of above

93. When two inductors L1 and 1.2 in parallel.
its equivalent inductance is.

L1L2
" L1+L2
L1+L2
L11i2
c. L1 + 1.2
d. LT X 1.2

94. A three and half digit multi meter can
display up to,

a. 1999
b. 9999
c. 1990
d. 3999

05. What does I'M means?
a. Field Modulation
b. Frequency Modulation
¢. Fine Modulation
d. Fixed Modulation
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[ 6. ﬁ_'lwlﬂwf%jﬁaﬁf AR 7@?%5[ 06, If three resistors of 1 ohm each are

I uRurRaEY wfeRTY 8. ‘ connected in parallel. the resultant resistance
a. 1 ohm | is,

b. 3 ohm a. 1 ohm

¢. 1/3 ohm b. 3 ohms

d. 0 ohm i ¢. 1/3ohm

‘ d. 0 ohm

o7 UAF ST 1.5V R 1 Q & AR ‘qﬁ‘ﬂ“l'al . .
¥ 9 VAGAHR i 9 gqu ¥ 4 Suue wl 97. Three Cell, each of emf 1 .5V and internal

IIFe © resistance of 1 Qare cpnnected in parallel,
a. 1.5 V the equivalent EMEF 1s,
h. 4.5 V ‘ a. 1.5V
¢. 45V i b. 4.5V
d. 3V | c. 45V
‘ d. 3V
%8, g 5??[1{ 75 aa?fggﬂﬁ dleesl (VPK) 20V ‘ 98. Peak voltage (Vpk) of sinusoidal
‘ 2{01 ’2@{\’ : ‘ waveform is 20 V, the RMS voltage is,
a. 20V .
. | a  20V2V
) ; Y
¢, 20 / V2V L . B
s og | ¢ 202V
4. ¢ | d 20V
90, GeTRA A U Full B TUFT TGO A B | 99, Energy stored ina capacitor is calculated
3. | using equator,
a. YiCV2 | a. CV?
b, %C2V | b. 2 C°V
Cv2 | Cl- lc/\i V2
d. ¥C / V2 i d. 2 C/
; ; | 100 Capacitors reactance “Xc' of'a
100. guifer @t ermgf Waﬂﬂmﬁﬁuﬁi@lﬂﬁ| n o e
| T S SEd 8 | Capacitor C frequency [ can be calculate
\ a. 2nlC ; .
_ b. 1 / 2nafC | a. 2mufC
! e. fC / 2nm ‘ b. 1/2xfC
d. 2/ fC ! ¢. IC/2n
| d. 2n/fC
L_)J,_,A{,,_,,_ﬂ_@{._kiq__ SR RS
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